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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

%UÔX›◊Tˆ ( Economics ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Y“U] Yy ( 1st Paper : Micro-Economics ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) aÁW˝ÁÃ[˝S V–[˝Ó, ◊XE ırÙ V–[˝Ó A[˝e "◊G„ZıX' V–„[˝ÓÃ[˝ Âl˘‰y 

VÁ„] Y◊Ã[˝[˝Tˆ¤„XÃ[˝ %ÁÃ^ Y“\ˆÁ[˝ C Y◊Ã[˝[˝Tˆ¤ Y“\ˆÁ„[˝Ã[˝ 

◊[˝\ˆÁLX ÂVFÁX* 

 (F) %ÁÃ^Tˆ„XÃ[˝ Âl˘‰y Y“◊TˆVÁX — ◊ÿöˆÃ[˝, y‘][˝W˝Ô]ÁX C 

y‘]‚—˜Áa]ÁX [˝ÓÁFÓÁ EıÃ[˝”X* %ÁÃ^Tˆ„XÃ[˝ Âl˘‰y 

%Y◊Ã[˝[˝Tˆ¤X›Ã^ Y“◊TˆVÁX ◊Eı ÂEıÁX AEı◊ªRÙO =YÁVÁ„XÃ[˝ 

Âl˘‰y y‘]‚—˜Áa]ÁX Y“◊TˆVÁ„XÃ[˝ a„Ü aÁ]taÓY…SÔ ? 

◊ÿöˆÃ[˝ =YÁVÁX %X«YÁTˆ ◊[˝◊`rÙ Y“^«◊N˛Ã[˝ Âl˘‰y 

a„]ÁdYÁVX ]ÁX◊ªJÙy %·¯X EıÃ[˝”X* 10 + 5 + 5 

 (G) Y…[˝ÔÁX«]ÁXm◊_ac˜ ◊Ã[˝EıÁ„QÔˆÁÃ[˝ FÁLXÁ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* Ac˜O Tˆ„√º¯Ã[˝ Y“◊Tˆ a]Á„_ÁªJÙXÁm◊_ Eı› Eı› ? 

   12 + 8  

 (H) Y…SÔÁÜ Y“◊Tˆ„^Á◊GTˆÁÃ[˝ Y…[˝ÔÁX«]ÁXm◊_ Eı› Eı› ? ÿëˆîEıÁ_ 

A[˝e V›HÔEıÁ„_ Ac˜OÃ[˝÷Y [˝ÁLÁ„Ã[˝ \ˆÁÃ[˝aÁ]Ó ◊XW˝ÔÁÃ[˝S 

EıÃ[˝”X* l˘◊Tˆ c˜„_C ÂEıX ÂEıÁX ZıÁ]Ô [˝Ó[˝aÁ [˝μ˘ Eı„Ã[˝ 

ÂVÃ^ XÁ ? 5 + 10 + 5 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ◊Eı\ˆÁ„[˝ ÂEıÁX ◊X◊V¤rÙ ªJÙÁ◊c˜VÁ ÂÃ[˝FÁÃ[˝ ◊[˝◊\ˆ~ ◊[˝≥V«„Tˆ 

ªJÙÁ◊c˜VÁÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ Y UEı c˜Ã^ ? Â]ÁªRÙO [˝ÓÃ^ A[˝e 

◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ a+EÔı Eı› ?  6 + 6 
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(F) =dYÁV„X GQÕˆ A[˝e Y“Á◊‹ôˆ„EıÃ[˝ ]„W˝Ó a+EÔı ◊XW˝ÔÁÃ[˝S 

EıÃ[˝”X* GQÕˆ [˝ÓÃ^ A[˝e Y“Á◊‹ôˆEı [˝Ó„Ã^Ã[˝ ]„W˝ÓC %X«Ã[˝÷Y 

a+EÔı ÂVFÁX* 6 + 6  

(G) AEı◊ªRÙO ◊XE ırÙ =YÁVÁ„XÃ[˝ Y◊Ã[˝‰Y“◊l˘„Tˆ ZıÁ„]ÔÃ[˝ [˝W˝ÔX 

YU ◊ªJÙyac˜EıÁ„Ã[˝ ÂVFÁX* 

(H) ÂEıÁX V–„[˝ÓÃ[˝ @SÁ±¡Eı \ˆÁÃ[˝aÁ]Ó VÁ]-◊XW˝ÔÁÃ[˝S EıÃ[˝„Tˆ 

YÁ„Ã[˝X ◊Eı ?  

(I¯) ªJÙÁ◊c˜VÁ ÂÃ[˝FÁÃ[˝ AEı ◊[˝≥V« ÂU„Eı %XÓ ◊[˝≥V«„Tˆ G]X 

A[˝e ªJÙÁ◊c˜VÁ ÂÃ[˝FÁÃ[˝ ÿöˆÁX Y◊Ã[˝[˝Tˆ¤„XÃ[˝ ]„W˝Ó YÁUÔEıÓ 

EıÃ[˝”X* ªJÙÁ◊c˜VÁ ÂÃ[˝FÁ ◊X∂oˆGÁ]› c˜Ã^ ÂEıX ?  

(ªªJÙ˜) [˝ÁLÁ„Ã[˝Ã[˝ \ˆÁÃ[˝aÁ„]ÓÃ[˝ =YÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ Y“\ˆÁ[˝ 

ÂVFÁX*  

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) %X«\…ˆ◊]Eı Â^ÁGÁX ÂÃ[˝FÁ [˝_„Tˆ ◊Eı ◊X„V¤` Eı„Ã[˝ ? 

%X«\…ˆ◊]Eı ªJÙÁ◊c˜VÁ ÂÃ[˝FÁ ◊Eı c˜O◊ÜTˆ Eı„Ã[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

  3 + 3  

(F) a«„^ÁG [˝ÓÃ^ ÂÃ[˝FÁ ]…„_Ã[˝ ◊V„Eı %[˝Tˆ_ ÂEıX ? A◊ªRÙO 

=w¯_ c˜„_ Eı› c˜Tˆ [˝_«X* 4 + 2 

(G) V›HÔEıÁ_›X \ˆÁÃ[˝aÁ„]ÓÃ[˝ Âl˘‰y Y…SÔÁÜ Y“◊Tˆ„^Á◊GTˆÁ 

A[˝e AEı‰ªJÙ◊ªRÙOÃ^Á Y“◊Tˆ„^Á◊GTˆÁÃ[˝ ]„W˝Ó YÁUÔEıÓ EıÃ[˝”X*  

(H) AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝Á„Ã[˝Ã[˝ a›]Á ◊XW˝ÔÁÃ[˝S EıÃ[˝”X*  

(I¯) [˝∞RÙO„XÃ[˝ Y“Á◊‹ôˆEı =dYÁVX Tˆ„√º¯Ã[˝ Y…[˝ÔÁX«]ÁXm◊_       

Eı› Eı› ? Â^ ÂEıÁX AEı◊ªRÙO Y…[˝ÔÁX«]ÁX T«ˆ„_ ◊X„_ Eı› c˜Ã^ 

[˝ÓÁFÓÁ EıÃ[˝”X* 4 + 2  

(ªJÙ) `“„]Ã[˝ Y∏JÙÁd]«F› Â^ÁGÁX ÂÃ[˝FÁ [˝ÓÁFÓÁ EıÃ[˝”X*  

(ªK˜) ÿöˆ…_ A[˝e X›ªRÙO ]«XÁZıÁÃ[˝ ]„W˝Ó YÁUÔEıÓ EıÃ[˝”X* =\ˆ„Ã^Ã[˝ 

◊YªK˜„X Y…[˝ÔÁX«]ÁXm◊_ Eı› Eı› ? 2 + 4 

(L) =YÁVÁX-VÁ„] Y◊Ã[˝[˝Tˆ¤X A[˝e =YÁVÁ„XÃ[˝ Y◊Ã[˝[˝Tˆ¤TˆÁÃ[˝ 

◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ ]„W˝Ó a+EÔı ◊XW˝ÔÁÃ[˝S EıÃ[˝”X* 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Split Income effect and Substitution effect 

in respect of a price change in the 

respective cases of normal good, inferior 

good and Giffen good. 

(b) Explain returns to scale — constant, 

increasing and decreasing. Is constant 

returns to scale compatible with decreasing 

returns to a factor ? Draw an Iso-quant 

map in respect of a fixed coefficient 

production function. 10 + 5 + 5 

(c) Explain Ricardian Rent theory with prior 

assumptions. What are the criticisms 

against it ? 12 + 8  

(d) What are the assumptions behind perfect 

competition ? Establish equilibrium in both 

short and long run. Why does a firm 

continue in business even at losses ? 

  5 + 10 + 5 

2. Answer any three questions  : 12 × 3 = 36 

(a) Show how the elasticity of demand varies 

from point to point on a particular demand 

curve. What is the relationship between 

total expenditure and elasticity ? 6 + 6 

(b) Find out the relationship between AP and 

MP in production. Also show the same 

relationship between AC and MC. 6 + 6  

(c) Draw and explain expansion path in 

respect of an inferior input. 

(d) Can you establish a negative equilibrium 

price of a commodity ? 

(e) Distinguish between movement along and 

shift in the demand curve. Why does a 

demand curve slope downward ?  

(f) Show the effect of elasticity on the 

equilibrium in the market. 
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3. Answer any four questions  : 6 × 4 = 24 

(a) What does a horizontal supply curve show ? 

Also, what does the horizontal demand 

curve indicate ? 3 + 3 

(b) Why is the opportunity cost curve concave 

to origin ? What happens if it was convex ? 

  4 + 2 

(c) Distinguish between perfect competition 

and monopolistic competition in the 

context of the long run equilibrium. 

(d) Determine the limits of Monopoly.  

(e) What are the pre-assumptions behind the 

marginal productivity theory of  

distribution ? If you withdraw one of the 

assumptions, what will be the outcome ? 

Explain. 4 + 2 

(f) Explain the backward bending supply 

curve of labour.  

(g) Distinguish between the gross and net 

profits. What are the respective 

assumptions behind each ? 2 + 4  

(h) Show the relationship between a change in 

factor price and factor elasticity of 

substitution.  

    


